EEFEESRE—F (RE)

Al | AL1-7 [RERMHHTEN KA T H115-40—&6, 85— T H115-3D4—#T 16.9 0.013 150
A2-1 | RBRTHEE) | XGRS — T B 115-40—#6, 485 — T B 115-304— 90.3 0.038 170
A2 | A2-4 [RERMHTENKEEE—T H115-30—&6, S5 =T H110-3D4—#f 90.7 0.008 48
A2-7 | REHTHE) XL — T H110-100—%, 428 =T H110-2, 110-3D % —%k 88.6 0.065 330
A3-2 | RBRTHE) XS8R =T B 110-3D 48— 87.6 0.023 58
A3 | A3-5 [RERmiE)KEE=T H110-300%& —ik 87.3 0.006 190
A3-8 | RBTTHIE) X4k =T H110-2, 110-3D%—6 87.4 0.042 190
A4-1 | RBRTTHE) X5 =T H110-2, 110-3D4—6 87.5 0.012 49
A4 | A4S [RBRITHIE)IX SR =T H110-2, 110-3D 48— 88.1 0.008 46
A4-8 | KRBT HIE) X488 =T B 110-2, 110-3D4—#f 87.7 0.023 96
A5-2 | KRBT HIE) X488 =T B 110-2, 110-3D4—#f 87.9 0.050 290
A5 | A5-5  [RBTHRVE)IX S =T H110-2, 110-3D & —# 88.8 0.006 110
A5-8 | KRBT HIE) 1 [X 4888 =T B 110-2, 110-3D4—#f 87.9 <0.005 58
A6-2 | KBifisE) K48 =T H110-2, 110-3, 110-6D4%—#T 88.7 0.008 97
A6 | A6-5 [KBriiHuE)IXSE="T H110-2, 110-6D & —#T 88.8 0.010 110
A6-8 | RPBTHIE) I [X 488 =T B 110-2, 110-6MD4—f 88.9 0.007 100
A7-2 | KRB X8 =T H110-2, 110-4, 110-6D4%—#T 88.0 0.022 140
A7 | A7-5 [RBriTHUE)IXSE =T H110-2, 110-4DH—H 87.9 0.019 97
A7-8 | KRBT HIE) X488 =T B 110-2, 110-4D4—Hf 87.9 0.011 51
A8-2 | RPBTiHIE) I [X 488 =T B 110-2, 110-4D4—Hf 88.7 0.008 110
A8 | A8-5 [KBxiiHyE)IXL4E="T H110-2, 110-4DH—# 88.8 0.010 52
A8-8 | KB sIE) I [X 48 =T B 110-2, 110-4D4—Hf 88.1 0.018 130
A9-2 KRBT HIE) X488 =T B 110-2, 110-4D4—Hf 88.8 0.009 120
A9 | A9-5 [RBTHVE)IXSE="T H110-2, 110-4DH—# 87.9 0.023 110
A9-8 | RPBTiHIE) I [X 488 =T H110-2, 110-4D4—Hf 87.8 0.018 100
A10-2 | KBiiadE/ X458 =T H110-2, 110-4, 110-50%— 87.7 0.027 140
Al0 | A10-5 | KRFeifisie) XL =T H110-2, 110-50%—# 87.6 0.032 110
A10-8 | RBxisIE) X4 =T H110-2, 110-5D% — 87.8 0.019 82
AL1-2 | RBxHE) X4 =T H110-2, 110-50% — 88.5 <0.005 36
All | A11-5 | RFRfisRiE) XL =T H110-2, 110-50%—# 90.1 0.007 47
A11-8 | KBxiHIE) X4 =T H110-2, 110-50% —# 88.7 <0.005 25
A12-2 | RBxTHE) X4 =T H110-2, 110-50% — 88.3 <0.005 57
Al2 | A12-5 | RFRifisieE) XL =T H110-2, 110-50%—#0 88.4 <0.005 48
A12-8 | RBxiHIE) X4 =T H110-2, 110-5D% 88.5 <0.005 18
AL3 Al13-3 | KRBxHE) X4 =T H110-2, 110-50% — 83.1 0.023 180
A13-5 | RBxTHE) X4 =T H110-2, 110-50% —# 27.3 0.008 140
Ald | A14-3 | KBrATHENXSE =T H292-200—#f 0.3 0.043 86
A15 | A15-6 | KBRTiTHIENXLSERE =T H2430D—#f 0.3 0.055 110
A16 | A16-9 | KBkTiHIEIXSE =T H267-40—#f 0.2 0.034 71
A 39 H 1595 (22) / 3044 21 6
(Bam#) (B (24E#H)| (&) | (&R
T E R UE 0.01LL F [ 150LL F
JE & T RRAE 0.005 1
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